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INSTRUCTIONS AND INFORMATION

1. This question paper consists of FOUR questions. Answer ALL the questions.
2. Number the answers correctly according to the numbering system used in this question paper.
3. Start EACH question on a NEW page.

4. You may use an approved calculator (non-programmable and non-graphical), unless
stated otherwise.

5. Show ALL calculations clearly.

6. Round off ALL the final answers to TWO decimal places, unless stated otherwise.
7. Indicate units of measurement, where applicable.
8. Maps and diagrams are NOT necessarily drawn to scale, unless stafed otherwise.

9. Write neatly and legibly.
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QUESTION 1

1.1
A Mathematical Literacy educator attended the Matric Top teacher’s Achievers Awards
Ceremony organized by her District. She is one of the teachers who obtained 100% and 4 Level
7’s out of 60 learners in the October/November 2021 examination. The awards include a
certificate and R5000 cash. The awards ceremony was held on the 11 of February 2022.
Picture of a rectangular certificate | Dimensions of a rectangular certificate
| b
27c¢m X 21 ¢cm
Use diagram and the information above to answer the questions that follow.
1.1.1  Write down the date on which the awards cerenony was held. (2)
1.1.2 Write the cash amount won in words. (2)
1.1.3  Determine the length of the certificate. ' (2)
1.14  What is the probability, of the awards ceremony attended on the 10™ of
February 2022? ' 2)
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1.2

The layout plan of the awards ceremony venue is illustrated below

Common Test September 2022
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1.2.1

1.2.2

1.24

Define the term “layout plan” in the given context.

Write down the number of people who attended the awards ceremony if all

seats were occupied.

State the gefieral direction of table 6 from table 3.

Measure the length of table 1 in cm.
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QUESTION 2

NSC
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Mr Avern received a bank statement from ABC bank. TABLE 1 below shows the part of
the statement from 1 May 2022 to 28 May 2022.

NOTE: 1 May 2022 was a public holiday.
TABLE 1: Mr Avern’s Bank Statement

Mr Avern Period : IMay 2022 to 28 May 2022

27 Stanger Rd Account Number : 443 [ 2%%%%

Stanger

Date Details Transaction Balance
01/05/22 | Opening balance -R2 500
01/05/22 | Interest R20,00 -R2 520
04/05/22 | Deposit (EFT) A R13 000
05/05/22 | POS Purchase R370,30 B
14/05/22 | Cash Withdrawal R5 560 R7 069,70
28/05/22 | Closing balance

*POS - point of sale

Use TABLE 1 and the information above to answer the questions that follow.

2.1 Define the term “opening balance” in the given context. (2)
2.2 Determine the value of A and B. 4)
2.3 State with reason why some of the digits in the account number are

not shown. 2)
2.4 Mr Avern withdrew R5 560 on the 14/05/22 from the other bank ATM.

Determine the bank charges for his transaction.

You may use the formula:

Bank transaction fee = R2,00 + R1,20 per R100 (or part thereof) 3)
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2.5 Mr Avern decides on using EFT for any transactions, TABLE 2 below

shows the transaction fees that will be applicable.
TABLE 2: EFT transactional fee

|| Amount ( R) R500 R1000 |... D R3200
Transaction Fee R8,00 C R32 R32
*Minimum transaction fee is R6.20

*Maximum transaction fee is R32.00

Use the information above to answer the questions that follow.
Calculate the following values from TABLE 2 above.
You may use the following formula:

EFT transaction fee = R2 + R1,20 per R100 (or part thereof)

251 C 2)
252 D - (3)
2.53  Explain the meaning of “part thereof” in the above formula. (2)

254  Give a reason why you think there is a maximum transaction fee
used by the banks. (2)
[20]
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QUESTION 3

3.1

The district likes the frame of the certificate to be painted in black and the front to be
covered with a glass as shown in the picture below.

Picture of a rectangular certificate Dimensions of a rectangular certificate
with frame with frame

Outer frame = 27c¢cm % 21 cm
Inner frame = 25¢cm % 18 ¢cm

Use the information above to answer the questions that follow.

3.1.1

3.1.3

3.1.4

Calculate the value of A, the width of the frame of the certificate, in
centimeters. 4)

Determine the total length around the frame in centimeters.
You may use the formula:
Perimeter of a rectangle = 2 ({+ b), where {=length and b = breadth (2)

The area of the inside section of the certificate is 450 cm?; hence calculate
the area of the wooden frame section in square centimeters.

You may use the formula:
Area of the wooden frame = Area of the whole certificate — Area of the
inside section.

(3)

Ramound, the certificate designer, says it will take him.$ hours to design 60
certificates if it takes him 5 minutes to design 1 cestificate.

Verify, showing all calculations, whether the statement is correct. 4)

Give ONE reason why a glass cover is put in front of the certificates. 2)
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3.2
A bank consultant advises the educator to deposit the R5000, 00 she received from the
awards in a fixed deposit at an interest rate of 5,5% per annum simple interest.
a) Write the interest rate per annum as a decimal. (2)
b) Calculate the interest that the educator will receive after 3 years. (3)
33

The certificates will be packed in a box as shown in the picture below (top view). Five
certificates can be stacked on top of each other. The dimensions of the box that the
certificates are to be packed into is 100 cm by 100 cm.

Picture of a rectangular box that the certificates will be packed into:

Use information above to answer the questions that follow.
3.3.1  Calculate the number of certificates that will fit in ONE box. (5)

3.3.2  Give one reason why it is advisable to leave a space between the certificates
and the sides of the box when packing. 2)
[27]
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QUESTION 4
4.

Sinethezekile High school Mathematical Literacy educator prepared an activity for her
Grade 10 learners on assembling the Face Shield.
PICTURE OF A COMPLETELY ASSEMBLED FACE SHIELD

]

L3 v Py

[Source:www.av8tor.co.zal

Use information above to answer the questions that follow.

4.1 Assist the learners by writing the assembling steps (1 to 5) represented by
each picture.
1.

:

(10)

4.2 Give one valid reason why are the assembly instructions given in both
pictures and word form? (2)
[12]
TOTAL: 75

Copyright reserved



KWAZULU-NATAL PROVINCE

EDUCATION
REPUBLIC OF SOUTH AFRICA

NATIONAL
SENIOR CERTIFICATE

GRADE 10

g MATHEMATICAL LITERACY '

4 COMMON TEST "
SEPTEMBER 2022
MARKING GUIDELINE

MARKS: 75

SYMBOL EXPLANATION
M Method
MA Method with accuracy
CA Consistent accuracy
A Accuracy(Answer)
C Conversion
S Simplification
RT/RG/RD | Reading from a table/ graph/ diagram
NPR No penalty for units/rounding
Correct substitution in a formula
Opinion/ reason/deduction/example
Justification
Rounding off/
deriving a formula
Explanation
Units
Answer only full marks

This Marking guideline consists of 4 pages.




athemagical Literac -
Dowiioaded from Stanmerephysics.com

Common Test September 2022

QUESTION 1 [16 MARKS] ACCEPT AO
QUE | SOLUTION EXPLANATION TL
1.1.1 | 11 February 2022v'v'A 2A, Answer L1
Accept 11 February F
2)
1.1.2 | Five thousand randsv'v'A 2A, Answer L1
)| F
1.1.3 |[27ecm v YA 2A, Answer L1
)M
1.14 |0V YA 2A, Answer L1
2) | P
Accept zero
1.2.1 | Layout plan is the plan showing the seating LIl
arrangement of the award venue in relation to one MP
another. v'v'A 2 A, Answer
(2)
1 out of 2 for general definition.
1.2.2 | 60 peoplev'v' A 2A, Answer L1
(2) | MP
1.2.3 | South East/ SEV'V' A 2A, Answer LI
(2) | MP
1.24 | 68cm v YA 2A, Answer L1
(2) | M
Accept leeway of 0,2
[16]
QUE | QUESTION 2 [20 MARKS] EXPLANATION TL
2.1 | Balance reflected at the beginning of the bank L1
statement of Mr Avern. v'v'A 2A, Answer (2) | F
1 out of 2 for general definition.
22 | A=R2520+R13 000 vMA IMA, adding correct values L2
A=R15520v A 1A, answer F
B =R13 000 — R370,30vMA IMA, subtracting correct values
B =R12629,70v A 1A, answer
4)
2.3 | For security reasonsv' v'E 2E, correct explanation L4
OR (2) | F
Any valid reason
2.4 | R5 560 = R6000 (part thereof) v'M IM, representing R5 560 as R6000 L3
Bank Fees  =R2,00 +R1,20 x (532)v'SF - bt F
, correct substitution
=R747A 1A, answer (3)
25.1 | C=R2+1,20 x (% )'SF I1SF, substituting correct values L2
F
=RI4vA 1A, answer (2)
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2.5.2 vRT IRT, reading correct value L2
R32 =R2 +1,20 x (ﬁ ) SF ISF, substituting correct values F
D =R2500vA 1A, answer (3)
2.5.3 | Part thereof means anything that is not R100 will be L1
taken as R100.v'YE 2E, explanation of part thereof F
OR
Any valid reason (2)
2.5.4 | To avoid charging people more money for L4
transactionsv' v’ A 2A, Answer F
OR
Any valid reason 2)
[20]
QUESTION 3[27 MARKS]
QUE | SOLUTION EXPLANATION TL
3.1.1 vRT IRT, correct values of length L3
2A =27cm — 25 cmv' MA 1MA, subtracting correct values M
2A =2cmv'S 1S, Simplification
A=1cmvA 1A, Answer @
3.1.2 L2
P=2(27 cm+2lem) v'SF 1SF, correct substitution M
=06 cmv A 1A, Answer
@)
3.1.3 L3
Area of the certificate =27 cm x 21cm M
=567 cm?*v' A 1A, area of the certificate
Area of the wooden frame = 567 cm?- 450 cm?v'MA IMA, subtracting area
=117cm? v A 1A, Answer 3)
3.14 L3
Duration to design 60 certificates = 5 x 60v'M IM, multiplying correct values M
=300 minutesv'A 1A, Answer in minutes
Duration in hours = =
60
L 5 hoursv'C 1C, converting minutes to hours
The statement is incorrect¥’O 10, conclusion 4)
3.1.5 L4
For protectionv'v'E M
OR
Durability. v'v'E
OR 2E, Explanation
Beautifyv'v'E
OR
Any valid reason (2)
3.2 L2
a) 0055V v A 2A, Answer F
2
NPR
Accept 0,06
b) Interest for 1 year = 15'750 x R5000 ) L3
—R2TSVA 1A, 1nter§st O.f | year F
Interest for 3 years = R275 x 3v"M }X’Xi}g&g?mg interest by 3 3)
=R825vVA ’
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3.3.1 L3
No of certificates along length = 12070%/ M 1M, dividing 100cm by 27 cm MP
=3vR IR, Rounding length
No of certificates along width = 12010621 |
=4vR IR, Rounding width
Total to fit in ONE box=3 x 4 x 5¥"MA IMA, multiplying correct values
= 60 certificatesv'A 1A, Answer (5)
33.2 L4
To avoid the certificates from breaking if the box falls. v'v'E | 2E, Explanation 2 | M
OR
Any valid reason
[27]
QUESTION 3[12 MARKS]

QUE | SOLUTION EXPLANATION TL

4.1 L3
Step 1 = Wash hands / Apply hand sanitizer.v'v'E 2E, correct explanation step 1 MP
Step 2 = Wear a new pair of gloves‘\/\/E ZE, correct explanation step 2
Step 3 = Press the holes of the shield onto the pegs of the
headband frame.v v'E 2E, correct explanation step 3
Step 4 = Hold assembly with transparent shield facing _
down.v vE 2E, correct explanation step 4
Step 5 = Place a strip of microfilm surgical tape on the ,
inside edge. v'vE 2E, correct explanation step 5

(10)

42 L4
To make it easier for a person who might not read to see MP
via the picture how to assemblyv'v'E 2E, correct explanation

OR
Any valid reason (2)
[12]
TOTAL:[75]
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